Version 4 Homework — 06.12.24
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Complete the calculations.

Complete the number sentences to describe the array.

@) 9x3= €) 6 x = 36

b)3x7= f)72+9=

Q) 6x7= 0)48+ 6= 2x7=
7 %

d) 9 % = 36 h) 24 + =3

English

. Which sentence uses plural —s accurately? Tick one.

The trees in the orchard are full of fruit. [:]

The tree’s in the orchard are full of fruit. G

Read the sentences below. Underline each fronted adverbial.

+7=2

= =7

After being visited by her fairy Godmother, Cinderella finally went to the ball.

Even though the music was loud, she heard the bells strike midnight.
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